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ol EAUsX HEt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXt= R 27,550,555 20,430,964 7,119,591
= 5,451,100
[ 3,723,000
= 1,391,300
Al 16,185,155
CH 800,000
EX=A 1,700,914 4,829,182 A3,128,268
SEXsA 2ot 167,202 185,982 11,220
SIY Nz NAZH 2835t 67,202 55,982 11,220
201 fet=23y| 50,902 43,902 7,000
01 AtR2te|HI 28,902 21,902 7,000
Ot 21,822
OAREE 7Y 4,802,000 4,802
OJIgRX EE2= & 3,680,000 3,680
oS & M 1,840,000 1,840
OJIEEEANAY 28 =5
3,500,000 *1CH*13] 3,500
Oy SEFXR2HA SESE M
5,000& 400 2,000
ONEENEINEXS A HE
1,500,000 43 6,000
O=3=+¢ 2,080
OENRXAEe 34 & dAE
130,000 4 & *43] 2,080
O=EH| 5,000,000& 5,000
03 A= SHI 22,000 22,000 0
O&EY SEXNURX A i 22,000
Oz SFEA2HX SN x|
2,000,000 #32] 6,000
O SHI2EX| 2&s PARY
4,000,000 22} 8,000
O+ SFRHA 2 224 MH
2,000,000& %12 2,000
O&NRXl &3 N HE
2,000,000 #32] 6,000
202 04| 14,300 10,080 4,220
01 =LHO LI 14,300 10,080 4,220
OJIHFI g2 =4 14,300
OUIHEX] JIERAES RN
6,000,000& 6,000
OJIgRXl =&E g 2ADI2 22
4,600,000 4,600
ORNYENFIEXS 42 2 RFA
1,700,000 1,700

2,000,000 2,000




AN EX=XD
2 ENRA

ol EAUsX HEt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 2,000 2,000
11 dALEEIXIZE S 2,000 2,000
OXBH ST HAH WA
10,000& »2002 2,000
ety dIIE=H pe 100,000 100,000 0
308 AtAIEHMSOIE 100,000 100,000
18 S| 2SO BHASAIE 100,000 100,000
0B ®I|EE K
100,000,000 100,000
NS LR = 222,100 2,699,200 A2,477,100
ANSH &S 17,900 17,900 0
201 er23| 10,400 10,400 0
01 At2t2ltl 10,400 10,400 0
O +=EH| 8,600
O==71g - ASIN |X 2223 M=AK(
weEs Mg 5) 5,000,000& 5,000
o8I =X 2L 2H =3 M
ZH(PTHIZE, 22HIHE &) 2,500,000 2,500
Oo%l=el XA & 8010 &2 S8
1,100,000& 1,100
O=¢gl 1,800
oNtss R 1,800,000& 1,800
202 04| 2,500 2,500
01 =LHOLI 2,500 2,500
OUNSe RN 2,500
Ox=£JI8 - A=Y FX g2
1,500,000 1,500
O N FRFH
1,000,000& 1,000
301 22N = 5,000 5,000
09 2IeI=& 0| 5,000 5,000
O=UD1E SNSRI (AHER]) 283
5,000,000& 5,000
SHRAAIE B2 X 204,200 0 204,200
308 AHAIEMSOIH 204,200 0 204,200
18 SIS0t oA AS A 204,200 0 204,200
O=Z2LANE = EE0IE XA
40,000,000 40,000
Ol 2AAE IHEAS 60,000,000 60,000
0301 +E=FH AL
60,000,000 60,000
Odi2 &Al2l JHEE I NFHALS
24,200,000& 24,200
OsI|g 2288 N2
20,000,000& 20,000
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SEX=A
SEN=4d € A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sax=sd € N 1,311,612 1,974,000 AB62,388
SEX ot AZld g4 2 JI=sE JIBRR(Z0t 749,000 1,649,000 £900,000
ZEE)
308 AtXIEMSOIE 280,000 280,000
18 SIS0t HAS A 280,000 280,000
OSSR AGHEHH 7= Jls & 45 J1Y
A& 280,000,000 280,000
403 AXIEHHSAH=201H 469,000 1,369,000 900,000
02 SO 2SOt et =& 2 €A ] 469,000 1,369,000 900,000
OQtHAZIY &8 D8 D=
469,000,000 469,000
SYTMEHIIY 25 W=s 50,000 50,000 0
308 AHXIEMSOIH 50,000 50,000
18 SIS0t oA AS A 50,000 50,000
OSZX MEIIZ 215 WS
50,000,000 50,000
ST BAXLE A (20t AFXA) 400,000 275,000 125,000
308 AtAIEHMSOIE 400,000 275,000 125,000
14 JIEIRE3 400,000 275,000 125,000
OSER AAMNME 2
400,000,000 400,000
SEi=sd & N2 17,612 0 17,612
201 er23| 13,732 0 13,732
01 At2teltl 13,732 0 13,732
O+ 11,500
OSIENFYE gRFU AREE 7
4,000,000 4,000
OSHit 2225 NMH (B2, HH &)
2,500,000 2,500
OS&EXt S=2HT M= 5,000,000& 5,000
O=&H| 2,232
OSHX=FYE g4 2,232,000& 2,232
202 04| 3,880 0 3,880
01 =LHOLI 3,880 0 3,880
OSEx=sd 2= 2,880,000& 2,880
O=Jtolla &2 25 PRFA
1,000,000& 1,000
S SHHE 8 A7 EY 80,000 0 80,000
207 ARl 80,000 0 80,000
01 = 80,000 0 80,000
OS3Y 54 2 XEAHE -8
80,000,000 80,000
OlcH SEX &t 9H&sl Ofzl 15,000 0 15,000
201 2= 15,000 0 15,000




AN EX=XD
2 ENRA

=@t EFX=sE & AE (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
03 A2 SHI 15,000 0 15,000
OO0l SEXF &t =teal il
15,000,000 15,000
& - s3HA &4 2 2 21,342,542 14,249,386 7,093, 1%
= 5,451,100
Fas 3,723,000
= 1,391,300
Al 9,977,142
CH 800,000
SHedst 3,809,500 3,426,000 383,500
< 690,600
Al 3,118,900
gsd & X 132,200 150,600 /18,400
201 L2 126,400 141,200 14,800
01 AtR2telb] 123,400 120,200 3,200
o2et=ZH| 11,000
oZoteH EH 7 900,000 900
osAJIY XY & SELE MENZ
Q124 1,800,000& 1,800
OJIgXE LR ARES 7Y
2,300,000 2,300
OJIgXE 24 e M
500,000 *42] 2,000
OJISXE AIZR ZA} &2k
2,000,000& 2,000
OZMAl MEHH He 22t
2,000,000& 2,000
O=EH| 2,400
OJIEX&H 2=
40,0003+« 123 2,400
o2z 110,000
Oz =01y 22X EEI2HA 2Y
110,000,000& 110,000
03 A2 I 3,000 21,000 18,000
2=el 22Ae NSEE KNEsS e 2
g3l 3,000,000& %12 3,000
202 044l 5,800 5,400 400
01 =LA LI 5,800 5,400 400
SHEH3 R 2,500,000& 2,500
O)1gQl 2tg3e 5 HRFA
1,500,000 1,500
O304 &2 &5 PRFA
1,800,000 1,800
lgss ¢ XA(Ex) 345,300 421,700 AT6,400
= 103,600




A FEXEXI
B A - =20 I4 U 29
g9: Seadst (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 241,700
402 2IZtA=01d 345,300 421,700 ANT6,400
=S 103,600
Al 241,700
02 QIR AL E X (01 &THE) 345,300 421,700 AT6,400
OS2 S3HE MY
345,300,000 345,300
< 103,600
Al 241,700
2Dl XN (= HEXH) 227,000 205,000 22,000
308 AtXIEMSOIE 150,000 150,000 0
18 SIS0t HAS A 150,000 150,000 0
O] sIIHII=s DESE I8 A=Zete
E JIsg XA 150,000,000 150,000
403 AXIEHHSAH=201H 77,000 55,000 22,000
02 SI|2SotHE =X A S A 77,000 55,000 22,000
eIy Jlgd AlAE TR
77,000,000 77,000
JI=AH SRR (HEALY ) (EX) 360,000 350,000 0
= 105,000
Al 245,000
307 el2tol & 350,000 350,000 0
= 105,000
Al 245,000
02 QI AAEE X 360,000 350,000 0
OJI=sAF EXHNIE A 350,000,000& 360,000
== 105,000
Al 245,000
s3H 243 XNA(EX) 540,000 560,000 /20,000
S 216,000
Al 324,000
301 LEtE NS 540,000 560,000 220,000
= 216,000
Al 324,000
4Bt 2 a3 540,000 560,000 /20,000
Os3HA 243 AE A
540,000,000 540,000
s 216,000
Al 324,000
NSitete SHXE(E AEXA) 1,665,000 1,000,000 665,000
308 XtXIEMSO0IE 1,665,000 1,000,000 665,000
18 S [2S0tHer 34 A A A 1,665,000 1,000,000 665,000
ONSA HHFS e & 228 HZHOt
A AE XA 600,000,000 600,000
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520,000

MEE
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10,000
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ol &rey

10,000
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20,000

1,065,000

6,000
14,000
20,000
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Al

6,000
14,000
20,000

H

20,000

Al

6,000
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520,000
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- ESS
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1,065,000,000&
10,000,000
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F

402
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=
[und
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e

(OI & TH

o8 A0

99,8%
5,086
5,086
1,166

17,048

520,000
520,000

1,109,956

307,086
50,900
50,900
114,948
11,850

354,386

55,986
55,986
55,986
27,000
18,150
8,000
2,836
131,996
13,016
4,000

520,000
260,000
260,000
520,000
520,000
260,000
260,000
1,464,342
664,342
800,000
406,942

260,000

Al
Al
CH

18,150,000&
8,000,000&
2,836,000&

520,000,000&
27,000,000&
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A FEXEXI
M M9l 2O XM Y 2
(= s A= S g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMTHRR| Y2FH AREE 7Y
4,000,000& 4,000
O=&H| 2,016
odtttate| gexa 2,016,000& 2,016
[ DR =3 7,000
O4d(s3)HA 2=+ ZHIAU(NE,
s3=72,H0I2 5) 7,000,000 7,000
2 ZZ2H| 118,980 103,098 15,882
022222 HA 9,060
OMYEST 2SS ®II23
6,600,000& «12& 79,200
OugHXl 2SS SRS
350,000& 122 4,200
OMRIEHT] E2YM FII3
1,000,000 x204 2=+33 6,000
Odot+=x 2= 55,0002 x2)H*62] 660
OAlE &I X 23,000,000 23,000
Oxtgrset] 5,920,000& 5,920
202 04t 2,880 2,268 612
01 =LHOHI 2,880 2,268 612
Odtttae] geFd 2,880,000& 2,880
206 M=l 15,000 13,000 2,000
01 M= HI 15,000 13,000 2,000
Ot IS HEM %42 7Y
5,000,000 5,000
O e SEI| MEHN P (M)
400,000 *25& 10,000
401 AIZHIX S0 201,080 125,970 75,110
01 A28l 200,000 125,000 75,000
OXBHM ZLAMRA EBH BA
50,000,000 50,000
OXgdat I8 e £X
60,000,000 60,000
O ot SH S 0= & JXHY
20,000, 000& »23] 40,000
OMFE 2SS FAE=
30,000,000& 30,000
OJ1E2AIE SXE2+(Mal & 212X el)
20,000,000 20,000
03 A2 THYI 1,080 970 110
odte2e|2g AIER Y|
1,080,000& 1,080
ANgdare OGsHFedH 29 57,400 47,300 10,100
101 21AH| 18,000 10,160 7,840
04 JIZtN2Z2XNSE+ 18,000 10,160 7,840




A FEXEXI
M M9l 2O XM Y 2
(= s A= S g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONBHNE ISX=SHE 2y
18,000,000 18,000
201 er2 3| 39,400 37,140 2,260
01 AtR2te|HI 19,600 19,140 460
OEIEEN=] 17,200
OLISH=EHIE AL%X ANSEE 79
2,400,000 2,400
OReIEHIES 2eld| 1,560,000 1,560
O&=J| & SIIFEI| =Xl
40,0002 #5CH* 122 2,400
Osd)| te2e|dY ===
220,000 * 122 2,640
OHEZANEIN, 28) 448
1,100,000& 22 2,200
OBATUISE(FLEE S) 7Y
150,000& * 122 1,800
OHMEAIE RA2c 100,000 «12& 1,200
OEEANAE 2 ===
2,000,000& 2,000
o222 MARIZEH S) 1,000,000 1,000
O=¢gtl 2,400
OU=H=EHH gRFA
8,000 *x2& » 150! 2,400
02 S5=24g4l 16,200 14,400 1,800
OS32SHILAA 13,200
OU=EHSsEdH &8s
1,100,000 12& 13,200
OAlE2EHI=XH 250,000& * 128 3,000
03 A2 I 3,600 3,600 0
OX0Pte W=s X208 29
300,000 x 1241200 2 3,600
g%)@ 23, 00 MEolmpt XM (244 XYAZEUE 1,000,000 0 1,000,000
=
Al 200,000
CH 800,000
401 Al HIZ S 0HbI 1,000,000 0 1,000,000
Al 200,000
CH 800,000
01 AlZ8| 995,700 0 995,700
O32E 23,00 dgolmegt =4
995,700,000 995,700
Al 199,740
CH 795,960
03 Al 2 HYI 4,300 0 4,300
O22E 235,00 gl =4
4,300,000 4,300
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A FEXEXI
B pY - =20 Z4 U 29
(= s A= S g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 260
CH 4,040
AHRTH 24 16,068,700 10,469,000 5,599,700
= 5,451,100
= 3,723,000
= 700,700
Al 6,193,900
HASHAMZHAH ENEEXF(EX) 3,723,000 4,020,000 297,000
[ 3,723,000
401 AIZHIZ S0 3,723,000 4,020,000 A297,000
= 3,723,000
01 Al&H| 3,712,948 4,009, 146 N296,198
SYX SEXNALEH & NS N8
A Z=d At 3,712,948,000& 3,712,948
= 3,712,948
03 Al 20HHI 10,052 10,854 A802
OSEX SSXJAME L XS HEC
A e At 10,052,000 10,052
s 10,052
WASHMIAAH ENHLEXF 1,200,000 600,000 600,000
401 AIEHIZ SR 0HYI 1,200,000 600,000 600,000
01 Al&H| 1,195,680 596,220 599,460
O N2 AL EXEETI (X4
g) 1,200,000, 0002 %99.64% 1,195,680
03 Al 2 HHI 4,320 3,780 540
OIS AZAAH EXNHEERR(EXIHY
g) ANE=0Ht] 1,200,000,000& *0. 36% 4,320
A TH A 25,000 23,000 2,000
201 fer=3| 22,000 20,000 2,000
01 AtR2tc|Hl 22,000 20,000 2,000
O et=EZH 22,000
Ut HR= 5,000,000& 5,000
otlzsis € 2 s
15,000,000& 15,000
O=¢gHl 2,000,000 2,000
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
O ST JRFH 3,000,000 3,000
S3UUE XAAAHE HE(EX) 1,000,000 1,000,000
401 Al HIZL 201 1,000,000 1,000,000
01 Al&H| 997,600 997,600
OS3SUE NANSHE AYAS
997,600,000 997,600
03 Al = THHI 2,400 0 2,400




SA: EXNSXID
I A
SN,

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

2,400,000 2,400

CSUPIPEI] SEESHE HE(2X) 3,649,000 0 3,649,000
1,056,000

130,000
2,463,000

o

=

401 Al HIZ 01| 3,649,000 0 3,649,000
1,056,000

130,000
Al 2,463,000

mhnoH

01 Al 3,629, 148 0 3,629, 148
O=SYUBHIEIR| SE254HE 212
3,639, 148, 0002 3,629, 148

1,063,149
129,649

2,456,350
bl 9,852 0 9,852

O=S 2N =2 2HE

hoH

=

9,852,000 9,852
2,851

351
6,650

hoH

=

SSHX 2435 TN AFH(E=x) 4,710,000 4,416,000 294,000
3,302,400

370,000
1,037,600

hoH

=

401 AIEHIZL 2 0HY| 4,710,000 4,416,000 294,000
3,302,400

370,000
Al 1,037,600

Mo

01 A&l 4,697,283 4,404,960 292,323
O3S X&4s HIIX ALY
4,697,283,000& 4,697,283

= 3,293,484
S 369,001
Al 1,034,798
03 A& CHYI 12,717 11,040 1,677
O3 243 WX A
12,717,000& 12,717

8,916
99
Al 2,802

mhoH

SSHRE HIUXIZ2IAIAE D=5 SEAH(EX) 1,761,700 0 1,761,700
1,092,700

H




2A:

B pY - =2OK| EH U 29
Sl dEld EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 200,700
Al 468,300
402 QIF X201 & 1,761,700 0 1,761,700
= 1,002,700
== 200,700
Al 468,300
03 2IZHAEAIHHI 1,761,700 0 1,761,700
OsSHA U X2 AIAE 2
1,761,700,000& 1,761,700
= 1,002,700
== 200,700
Al 468,300
HH2IJH(ENSXIL) 27,000 21,600 5,400
J123HI(F AR D) 27,000 21,600 5,400
J=2ZHI(FAHFRIL) 27,000 21,600 5,400
202 048l 22,800 18,000 4,800
01 2L AL 22,800 18,000 4,800
OSE=EZ 0| 100,0002 ~19g ~ 122 22,800
203 =] 4,200 3,600 600
M A2 ARFEI 4,200 3,600 600
OS2 X1 2t 350,000 * 122 4,200
HWRes (ST 4,480,099 1,330,796 3,149,303
WEHAH R E(F XX L) 4,480,099 1,330,796 3,149,303
LHEHeHKIE (S X=X ) 4,480,099 1,330,796 3,149,303
701 JIEtSI HSHES 880,099 830,79 49,303
01 JIEt=I AN ES 880,099 830,7% 49,303
OS2 ESEH &S
880,099,000 880,099
R IIsdES 3,600,000 500,000 3,100,000
(UIPIETSE— 3,600,000 500,000 3,100,000
OsIgs4)|ls dE=
600,000,000& 600,000
OENNE)|I= 8&E3 3,000,000,000& 3,000,000
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